Math 001-44, Quiz 3 (1.3 and 1.1), Term 131, Instructor: Sayed Omar Pagel 29-Oct-13
SN ID NAME
Show all necessary steps for full marks.

2x +4 1 1 7
——+ =X

Question 1: (5 points)(1.1 Textbook Example): Solve =—X —=
2 4 3
Solution:
SOLUTION 2"‘: 4, ;.\'zlx -
|( Digtribute to aif terms \'—=..--. 2x+4 : _1 =1 _| coea3 F" Multiply by 12, the LCD of the
| within the parentheses. [ . 3 ; 2'1' ; 41 3 fracticns. (Section R.5)
4+ 4 |
|.“(21' )+ '..1(_.1') = |.’(l.1:) =5 -(1) Distributive propermy
3 2 4 3
4(2x + 4) + 60 =3¢ — 28 Multiply
Bx+ 16+ 6x=3x— 28 Distributive property
[4x + 16 =3x — 28 Combine li )
1l =—44 Subtract 3r. Subiract 16.
= —4 Divide cach side by 1
Question 2: (5 points): Solve for R: AR-B _A L4
BR-A B
Solution:
AR-B A
=—+1
BR-A B
AR-B A+B
BR —A B
ABR-B?=ABR +B?R-A*-AB
A?+AB -B?>=ABR —-ABR +B"*R
A?+AB -B?=B"*R
2 2
R _ A +Ali> -B
B
R 3/ 103 [ _
Question 3: (5 points): A +iB = Y122+l _ﬂﬂ, A=?, B=2?
(2i -1)—(i +5)
Solution:
=3 . s 00\5L .
A+IB 3 31_125+i103_\/1\/__1_ 3 (—5 8 +1 (lz) —(\/Z)| (|)
(2i —1)—(i +5) 2i —1-i -5
_ 5-i+2 -3-i (-3-i)(-6-i) 18+3i +6i -1 17+9i
i —6 —6+i  (—6+i)(-6-i) 36+1 37
:£+ii Answer: A=E , B =i
35 35 37 37

Question 4: (5 points): If z = (11 )3 +i", where i =+/—1, then find the conjugate of

Z.
Solution:

z=(1-i) +i®=z =(1-i)(1-i) +i-i*=(1-i)1-2i -1)+i-(i*)
=-2i(1-i)-i=-21+2i"-i =-2-3i = 7=-2+3i
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Another Method:

QI6.1fz =(1-i) +i'

A) 243
B) 1460
C) 2-3i
D) 3i

E) -3i

* where i = J:I‘ , then the conjugate of z is:

Sef-(' '-3) C-o.--pl'ex. Mum bers
.[‘Zc--'l

- -‘1- . )
2:I-?L+3L-L+L

;l‘Ji“‘j%l’L
-3

F -
_é_—:-.l-i-_'ii
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